Mathematics Grade 10
21ST CENTURY SKILLS BASED TEST

Name: _______________________________________________        Date: ____________
Section: ______________________________________________	      Score: ____________					
Direction: Encircle the letter of the correct answer.
1. A sequence in which each term is obtained by multiplying the preceding term by a constant is called a/an _______.
a. geometric sequence				c. harmonic sequence	
b. arithmetic sequence				d. common ratio
2. The sequence 3, 6, 12, 24, … is a _______ sequence.
a. geometric					c. fibonacci
b. arithmetic					d. harmonic
3. Find the arithmetic mean of 7 and 27.
a. 19			b. 18			c. 17			d. 15
4. Find the eighth and eleventh terms of the geometric sequence:  4, -8, 16, -32, …
a. -512; 4 096		b. 512; 4 096		c. -521; 2 048		d. -521; 4 096
5. Find the seating capacity of a movie house with 40 rows of seats if there are 25 seats in the first row, 28 seats in the second row, 31 in the third row, and so on.
a. 3 430 seats		b. 4 304 seats		c. 3 340 seats		d. 3 403 seats
6. If two successive terms of a Fibonacci sequence are both odd, then the next term is _______.
a. zero			b. even		c. undefined		d. odd
7. Complete and continue the sequence: 1, 16, 81, 256, 625, __.
a. 725			b. 1296		c. 1126			d. 1396
8. Which term of the arithmetic sequence 5, 9, 13, 17, … is 401?
a. 99th term		b. 100th term		c. 111th term		d. 98th term
9. The indicated sum of an arithmetic sequence is called a/an _______.
a. arithmetic sequence				c. nth term
b. arithmetic series				d. summation
10. Find the common difference in the arithmetic sequence 
a. 			b. 			c. 			d. 
11. To describe the sum of the terms of a sequence, we use the _______ notation.
a. nth term		b. summation		c. series		d. sequence
12. Using synthetic division method the result of (n2 + 6n – 27) ÷ (n – 3) is
	a. n+7			b. n+8			c. n+9			d. n+10
13. Using Long Division method the result of (2b4 + 7b3 + 12b2 – 9b – 27) ÷ (2b + 3) is
	a. b3 + 2b2 + 3b – 9				c. b3 + 2b2 - 3b – 9
	b. b3 + 2b2 + 3b + 9				d. b3 + 2b1 + 3b – 9
14. Using Long Division Method the result of (2t4 + t3 + 5t2 + 14t – 16) ÷ (t + 2) is
	a. 2t3 – 3t2 + 11t – 8				c. 2t3 – 3t2 + 10t – 8
	b. 2t3 – 4t2 + 11t – 8				d. 2t3 – 3t2 + 11t – 9
15. Using synthetic Division Method the result of (p4 – 6p3 – 15p2 – 12p + 32) ÷ (p – 8) is
	a. p3 + 2p2 + p – 1				c. p3 + 2p2 + p – 3
	b. p3 + 2p2 + p – 2				d. p3 + 2p2 + p – 4

16. Which of the following is the standard form of the polynomial function 
f(x) =  – x2 + 3x4 – 8x3?
a. f(x) = 3x4 – 8x3 +  – x2			     c. f(x) = 3x4 – 8x3 – x2 +  
b. f(x) = - x2 +  – 8x3 + 3x4			     d. f(x) = = – x2 – 8x3 + 3x4

17. What is the y-intercept of y = x(x+6) (x+1) (x-1)
     a. 1                                      b. 0                                    c. – 1                                         d. 6
18. What is the degree of the given polynomial function f(x) = (x + 4) (x + 1) (x – 1)2?
     a. 6                                      b. 3                                     c. 2                                         d. 4
19. What is the angle whose vertex is on the circle and whose sides contain chords of the circle?
a. central angle                 b. acute angle                   c. inscribed angle                d. straight angle
20. If a quadrilateral is inscribed in a circle then its opposite angles are _______?
a. right angle              
b. obtuse angle                       
c. complementary angle              
d. supplementary angle
21. How many line/ s can be drawn that is tangent to the circle?
     a. one                                       b. two                             c. three                                d. four
22. If an inscribe angle of a circle intercepts a semicircle, then the angle is_______?
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)a. acute                                    b. right                           c. obtuse                              d. straight
23. In the given circle S name the right angle?
     a. < OPT                                    c. < TOP 
     b. < TSP                                    d. < PTO
24. In figure given in number 12, 
       m  = 850, what is m  =?
a. 1000                                      c. 1800
     b. 950                                      d. 900

25. Given P(x) = 2x4 + 3x3 – x2 + 4x – 2. What is the value of P(-1)?
      a. -8                                          b. 8                                   c. -4                                      d. 0
26. What is the distance between A(2, -3) and B(10, -3)?
      a. 6                                           b. 20                                          c. 12                                     d. 8
27. What is the coordinates of the midpoint of a segment whose endpoints are
P(-5, -1) and Q(8, 6).
      a.                             b.                             c.                        d. 
28. If two chords of a circle intersect, then the product of the measures of the segments of one chord is ____to the product of the measures of the segments of other chord. 
a. less than                
b. greater than                   
c. equal                  
d. greater than when one chord is diameter
29. If a secant and tangent intersect at the point of tangency, then the measure of each angle formed is one – half the measure of its_____?
a. major arc                             
b. minor arc                                  
c. intercepted arc                    
d. inscribed angle
30. A radio signal can transmit messages up to a distance of 5km. If the radio signal’s origin is located at a point whose coordinates are (-2, 7). What is the equation of the circle that defines the boundary up to which the messages can be transmitted?
   a. (x – 2)2 + (y + 7)2 = 25                                                 c. (x + 2)2 + (y – 7)2 = 25
   b. (x + 2)2 + (y – 7)2 = 5                                                   d. (x – 2)2 + (y + 7)2 = 5 
31. The total number of possible outcomes in tossing a coin
	a. 1			b. 2			c. 3			d. 4
32. The total number of possible outcomes in a deck of cards
	a. 54			b. 53  			c. 52			d. 51

33. The symbol for “factorial”
	a. ?			b. /			c. #			d. !
34. Who was the mathematician who first introduced the Pythagorean theorem?
	a. Rene Descartes	b. Pythagoras		c. Archimedes		d. Isaac Newton
35. The result of 10P3 
	a. 710			b. 720			c. 730			d. 74
36. The result of 10C3
	a. 120			b. 140			c. 160			d. 180
37. The result of 12P5
	a. 95038		b. 95039		c. 95040		d. 95041
38. The result of 12C5
	a. 790			b. 791			c. 792			d. 793
39. The result of 8P4
	a. 1674			b. 1676		c. 1678			d. 1680
40. The result of 8C4
	a. 60			b. 70			c. 80			d. 90
41. The scores of 8 students were 75, 78, 73, 82, 87, 89, 93 and 95. What was the average scores of the students?
	a. 86			b. 85			c. 84			d. 83
42. 105 children were going to the zoo in mini-vans. Each mini-van could seat 9 children. What will be the number of mini-vans needed to take all the children to the zoo?
	a. 10			b. 11			c. 12			d. 13
43. Mrs. Garcia bought 8 pockets of chocolates and gave them to 25 pupils. When she gave each of them 4 chocolates, she had 4 chocolates left. How many chocolates were there in each pocket?
	a. 10			b. 11			c. 12			d. 13
44. A barangay plans to construct a reading center. The center will cost Php. 5,113,745. Thirty five residents pledge to shoulder the expenses equally. How much will each of them give?
	a. P146,107		b. P146,170		c. P 146,017		d. P 146,071
45. P23 belong to what type of quantiles?
a. Percentiles	b. Deciles		c. Quartile		d. Mode
46. The average score of measures of central tendency.
a. Mean 		b. Median		c. Mode		d. Quartile
47. Q2 means
a. First Quartile	b. Second Quartile 	c. Third Quartile	d. Fourth Quartile
48. Which of the following is not part of “Deciles”
a. D3				b. D10			c. D9			d. D11
49. Which of the following is not part of “Percentiles”
a. P10				b. P100			c. P20			d. P110
50. Quartile is divided into how many equal parts?
a. 1				b. 2			c. 3			d. 4
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Key Answer

1. A				49. D
2. A				50. D
3. C
4. A
5. C
6. B
7. B
8. B
9. B
10. D
11. B
12. C
13. A
14. A
15. D
16. C
17. B
18. D
19. C
20. D
21. A
22. B
23. C
24. B
25. A
26. D
27. B
28. C
29. C
30. C
31. B
32. C
33. D
34. A
35. B
36. A
37. C
38. C
39. D
40. B
41. C
42. C
43. D
44. A
45. A
46. A
47. B
48. D
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